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!Cochez	
  la	
  ou	
  les	
  bonnes	
  réponses.	
  
 
	
  

	
  +1	
  par	
  case	
  juste	
  /	
  -­‐1	
  par	
  case	
  fausse	
  /	
  -­‐0,5	
  par	
  case	
  oubliée	
  /	
  0	
  pour	
  JNSP	
  («	
  je	
  ne	
  sais	
  pas	
  »). 	
  
	
  

	
  

• Plus	
  un	
  placement	
  est	
  risqué,	
  plus	
  le	
  taux	
  d’intérêt	
  est…	
  :	
   "	
  Faible	
  	
   "	
  Elevé	
  	
   "	
  JNSP	
  
• Les	
  dividendes	
  rémunèrent	
  :	
   "	
  Les	
  épargnants	
   "	
  Les	
  actionnaires	
   "	
  Les	
  	
  débiteurs	
   	
  
	
   	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Les	
  intérêts	
  rémunèrent	
  :	
   	
   "	
  Les	
  emprunteurs	
   "	
  Les	
  prêteurs	
   "	
  Les	
  créanciers	
  	
  

	
   "	
  Les	
  banques	
   "	
  Les	
  épargnants	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Une	
  obligation	
  est	
  un	
  :	
  	
   "	
  Placement	
   	
  	
  	
  	
  "	
  Titre	
  de	
  propriété	
   	
   	
  	
  	
  "	
  Titre	
  de	
  dette	
  	
   "	
  JNSP	
  
• Le	
  financement	
  bancaire	
  conduit	
  forcément	
  à	
  un	
  endettement.	
   	
   "	
  Vrai	
   	
   "	
  Faux	
   	
   "	
  JNSP	
  
• Le	
  financement	
  direct	
  est	
  forcément	
  sans	
  endettement.	
  	
   	
   "	
  Vrai	
   	
   "	
  Faux	
   	
   "	
  JNSP	
  
• Le	
  financement	
  direct	
  correspond…	
  :	
   "	
  au	
  financement	
  de	
  marché	
  	
   "	
  au	
  financement	
  bancaire	
  	
   	
  

	
   "	
  à	
  l’autofinancement	
  	
   "	
  au	
  financement	
  désintermédié	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Le	
  financement	
  externe	
  correspond…	
  :	
  	
   	
   "	
  A	
  l’autofinancement	
   	
   "	
  Au	
  financement	
  bancaire

	
   "	
  A	
  l’émission	
  d’action	
   	
   "	
  A	
  l’émission	
  d’obligation	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Les	
  avantages	
  du	
  financement	
  par	
  émissions	
  d’actions	
  sont	
  :	
  	
   "	
  L’ouverture	
  du	
  capital	
   "	
  Un	
  faible	
  endettement	
  

	
   "	
  Un	
  financement	
  peu	
  couteux	
   	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Les	
  inconvénients	
  du	
  financement	
  bancaire	
  sont	
  :	
  	
   "	
  La	
  publication	
  des	
  informations	
  comptables	
  de	
  l’entreprise

	
   "	
  Le	
  risque	
  d’OPA	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Lorsque	
  le	
  cours	
  d’une	
  action	
  cotée	
  s’envole	
  (#)	
  ...	
  :	
  	
   "	
   L’entreprise	
   cotée	
   augmente	
   sa	
   capacité	
   d’autofinancement

	
   "	
  Les	
  actionnaires	
  vont	
  recevoir	
  des	
  dividendes	
   "	
  Aucune	
  de	
  ces	
  réponses	
   "	
  JNSP	
  
• La	
  financiarisation	
  de	
  l’économie	
  a	
  débuté	
  en	
  France	
  dans	
  les	
  années	
  :	
  	
   "	
  1960	
   	
   "	
  1970	
   	
   	
  

"	
  1980	
   	
   "	
  1990	
   	
   "	
  2000	
   	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• L’économie	
  d’endettement	
  administrée	
  se	
  caractérise	
  par	
  :	
  	
   	
   "	
  Des	
  banques	
  en	
  concurrence	
   	
  

"	
  L’encadrement	
  du	
  crédit	
   "	
  Des	
  banques	
  nationalisées	
   "	
  Aucune	
  de	
  ces	
  réponses	
   "	
  JNSP	
  
• Alors	
  que	
  dans	
  les	
  années	
  1970,	
  l’Allemagne	
  possédait	
  une	
  économie	
  financièrement	
  plus	
  libéralisée	
  que	
  la	
  France,	
  

aujourd’hui	
  c’est	
  l’inverse.	
   	
   "	
  Vrai	
   	
   "	
  Faux	
   	
   "	
  JNSP	
  
• La	
  titrisation	
  permet	
  aux	
  banques	
  de…	
  :	
   "	
  réduire	
  le	
  risque	
   	
   "	
  se	
  débarrasser	
  du	
  risque	
   	
  

"	
  se	
  refinancer	
   	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
  	
  	
  "	
  JNSP	
  
• Les	
  crédits	
  subprimes	
  sont…	
  :	
  	
   "	
  à	
  taux	
  fixe	
   	
   "	
  hypothécaires	
  	
   "	
  une	
  innovation	
  	
  

	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
  	
  	
  "	
  JNSP	
  
• Le	
  financement	
  de	
  l’économie	
  française	
  connaît	
  une	
  désintermédiation	
  :	
  

"	
  Vrai	
   	
   "	
  Faux	
   	
   "	
  JNSP	
  
• La	
  théorie	
  des	
  marchés	
  efficients	
  a	
  servi	
  de	
  fondement	
  à	
  la	
  dérégulation	
  financière	
  :	
  

"	
  Vrai	
   	
   "	
  Faux	
   	
   "	
  JNSP	
  
• La	
  métaphore	
  du	
  «	
  Concours	
  de	
  beauté	
  »	
  utilisée	
  par	
  Keynes	
  indique	
  que	
  les	
  marchés	
  financiers	
  sont…	
  :	
  

"	
  gagnants	
   	
   "	
  efficients	
   "	
  auto-­‐stables	
   "	
  Aucune	
  de	
  ces	
  réponses	
   "	
  JNSP	
  
• La	
  théorie	
  des	
  bulles	
  spéculatives	
  indique	
  que	
  leur	
  formation	
  est	
  :	
  	
   "	
  Autorégulée	
   	
   "	
  Automatique	
  

	
   	
  	
  	
  	
  	
  	
  	
  	
  "	
  Autonome	
   	
   "	
  Aucune	
  de	
  ces	
  réponses	
   "	
  JNSP	
  
• Selon	
  la	
  loi	
  de	
  l’offre	
  et	
  de	
  la	
  demande,	
  pour	
  la	
  plupart	
  des	
  «	
  biens	
  normaux	
  »,	
  lorsque	
  la	
  demande	
  est	
  supérieure	
  à	
  l’offre	
  :	
  

	
   	
   	
   	
   "	
  Les	
  prix	
  #	
   	
   "	
  Les	
  prix	
  $	
   	
   "	
  JNSP	
  
• Selon	
  la	
  loi	
  de	
  l’offre	
  et	
  de	
  la	
  demande,	
  généralement,	
  lorsque	
  les	
  prix	
  baissent	
  :	
  	
   "	
  La	
  demande	
  #	
   	
  

	
   "	
  La	
  demande	
  $	
   "	
  L’offre	
  #	
   "	
  L’offre	
  $	
   "	
  JNSP	
  
• Lorsque	
  les	
  cours	
  d’une	
  action	
  diminuent,	
  généralement	
  la	
  demande	
  pour	
  cette	
  action…	
  :	
  "	
  #	
   "	
  $	
   "	
  JNSP	
  
• Plus	
  la	
  durée	
  de	
  l’emprunt	
  est	
  longue…	
  :	
  	
  	
  	
  	
  "	
  moins	
  la	
  mensualité	
  est	
  élevée	
  	
  	
  	
  "	
  plus	
  la	
  mensualité	
  est	
  élevée	
  	
  	
  	
  "	
  JNSP	
  
• Plus	
  la	
  durée	
  de	
  l’emprunt	
  est	
  courte…	
  :	
  	
  	
  	
  	
  	
  	
  "	
  moins	
  le	
  taux	
  d’intérêt	
  est	
  élevé	
  	
  	
  "	
  plus	
  le	
  taux	
  d’intérêt	
  est	
  élevé	
  	
  "	
  JNSP	
  
• Une	
  baisse	
  de	
  20%	
  revient	
  à	
  multiplier	
  par	
  :	
  "	
  0,2	
  	
   "	
  0,8	
  	
   "	
  1,2	
  	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Multiplier	
  par	
  0,1	
  correspond	
  à	
  :	
  "	
  Une	
  baisse	
  de	
  10%	
   "	
  Une	
  baisse	
  de	
  1%	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
  	
  	
  	
  "	
  JNSP	
  
• Une	
  hausse	
  de	
  1000%	
  revient	
  à	
  multiplier	
  par	
  :	
  	
  	
  	
  	
  "	
  9	
  	
  	
  	
  	
  "	
  10	
   "	
  11	
  	
  	
  	
  "	
  Aucune	
  de	
  ces	
  réponses	
  	
   "	
  JNSP	
  
• Quels	
  sont	
  les	
  agents	
  à	
  besoin	
  de	
  financement	
  structurel	
  en	
  France	
  aujourd’hui	
  :	
  "	
  Les	
  sociétés	
  financières	
  	
  "	
  Les	
  ménages

	
   "	
  Les	
  Sociétés	
  non	
  financières	
   	
  	
  	
  	
  "	
  Les	
  administrations	
  publiques	
  	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
  	
  	
  	
  "	
  JNSP	
  
• En	
  France,	
  il	
  y	
  a	
  environ	
  :	
  	
   "	
  200	
  banques	
   "	
  400	
  banques	
   "	
  1000	
  banques	
  	
   "	
  10000	
  banques	
  

	
   "	
  Aucune	
  de	
  ces	
  réponses	
  	
   	
   "	
  JNSP	
  
• Les	
  Etats	
  aussi	
  se	
  financent	
  sur	
  les	
  marchés	
  financiers	
  en	
  émettant	
  des	
  actions	
  :	
  	
   "	
  Vrai	
   "	
  Faux	
   "	
  JNSP	
  
	
  


